
Circuit Two Kirchoffs Law 
 

 
 
Loop A B C D 
3v = 3ΩI₁ + 1Ω (I₁ - I₂) 
3v = 3ΩI₁ + 1I₁ - I₂ 
3v = 4ΩI₁ - 1I₂ --------- ① 
 
Loop B E F C 
2v = 6ΩI₂ + 1Ω (I₂ - I₁) 
2v = -1ΩI₁ + 7ΩI₂ ----------- ② 
3v =  -4ΩI₁ -1ΩI₂ ------------- ① x1 
2v =  -1ΩI₁ + 7ΩI₂ ---------- ② x4 
3v = -4ΩI₁ - 1ΩI₂ 
8v = -1ΩI₁ + 28ΩI₂ 
11v = 27ΩI₂ 
 

I₂ = 
   

   
= 0.407a  

 
Sub I₂ into equation ① 
3V = 4ΩI1 - 1ΩI2 (0.407a) 
 
3V + 0.407V = 4ΩI1 
 

I1 = 
  

  
+ 

      

  
 =0.851a 

 
I₁ - I₂ = 0.851a – 0.407a = 0.444a 
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